
-.i !Fr-f- 2.15(4)-p
F*;; - rFI:- q=Fr< qriqq d fr:n+eqr &it {qotc t firdT dq{r d 3rfl'f-d qrff rrn Ria d

, 'qorq € cr$ dd gl dln ao ..u* A#o'+.* *'t or c+fi rwro cosrs-c dl6 ftqfur R'Trrr 4l

d€fdlq wfrTq I

@m.A G@Lisr&did i5r
qr-1s,1

41-so70-10 l0-20 20-30 30-40 50,60 60,?0 ?0-ll0 80-90

I 02 OI

0l

0t I 01 00 06

00 00 00 00 0003

00 02 01 00 00 0 0 03
2

3
2

02

0 0 0 0 0 06

00 00 00 00 0 01
01

02 0 0l 00 0 0 06
2 02 0t

03

2

1*trd "rFi

0 2

3

00

0
03

02 02 00 00 00 00 0 0 04
3

;

00 00 00 0l 00 0 01

t2 09 0l OJ 00 00 00 00 4l
{€rqi'r:-

,"+

s"rrl}a
J., .,1 - qt:n^-

Rnict d.r3 inir rio lqu

6qrFI7 ((lfr'r')

qq fa.rr.r

( *.o.



:-;-

crrr - 2.15(4)

#-5$,.{ii; H.HH.T ffi #ffi.*fgffi #H,-H#T *gffi
l!d-r{r d tuf"r

cF-gwitrR.d

--&-
- r.q sf{eort

--.r.r6-,c6E Tr stt

ai!-':rn1] eitrmi
i{qiq r,:-ue olo Fo lio

oq.tli iiFr]:dt)

60
HO

el+ or 3iffi +irti6 {q S rqrtud +i qd 
SCi 6-r sRiq C
al+r an

4")''

frqr

0-10 | 10-20 l 40-50 T 50-60

10

6

t
6

2 2
60-70 70-80 80--90

1 0 0 0 0

2 qsilfr oak
3 3 0 0 0 0 0 0 0
0 2 1 0liFidT 0

o

0 0 0 0
3 v+dT EIq 2 0 0 0 0 00 0 0

o

0 0 0 9
2 0 2qIdI

wr
tutud
.tE

3Iq 0 0 0 90 1 2f idT 0 0 0 0 0
0 0

3
0 0 0 0 0oak

7
0 2 2 0 0 0 0gq 0
0 0 0 1 0 0 0 0

't9 17 14 4 0 0

Ft;u
0 0

4{ fulrr[

*ffi6iH,

( qt Fflrr


